AUTOMATION ACCESSORIES & PARTS

Sdind

OneTouch™ Control Panel

RETNIE|

SYILYIH SV

SdNd L¥3H

=
=
=
=]
=
=l
=]
=

=
=
=
== N S 2
= & :
E o/ R
= —/ 2
=
=
g
‘é’
E| Key No. PartNo. Description
g RO550100 OneTouch, Faceplate Only, White

R0550200 OneTouch, Faceplate Only, Black

RO550300 OneTouch, Faceplate Only, Satin Chrome
= RO550400 OneTouch, Faceplate Only, Polished Chrome
5 RO550500 OneTouch, Faceplate Only, Satin Brass

R0550600 OneTouch, Faceplate Only, Polished Brass

R0551200 Screw, #6 = 3/8" Phillips Pan Head, Type BT (Purchase Kit #R0551200)
_§ 4862 Washer,Buna N, 3/8" 0D (Purchase Kit #R0551200)
_% RO550700 PCB Subassembly w/ White Buttonsand LCD
= R0550800 PCB Subassembly w Black Buttons and LCD
S 4 ROS50900 Housing, Flush Mount, White
« 5 32718 Screw, #6 x 1" Phillips Pan Head, Type A (Purchase Kit #R0551300)

6 1325 Screw, #8 x5/8" Phillips PN T-A (Purchase Kit #R0551300)

5 R0551000 Housing, Surface Mount, White
E ROSS51100 Housing, Surface Mount, Black
i 8 7953 OneTouch Control Panel, Complete, Surface and Flush Mount, White

7954 OneTouch Control Panel, Complete, Surface and Flush Mount, Black
o R0OS551400 Replacement Buttons, OneTouch, White
g R0551500 Replacement Buttons, OneTouch, Black
5 10 7684 Cleat, Flush Mount Sheet Rock Fastener (Purchase Kit #R0551300)

Il R0410200 OneTouch Controller Chip

_ N/S  RO551800 Service Controller, OneTouch w/ 3 ft. Cable and Connector
_,'Z, N/S  RO467100 Wire Harness w/ RJI0 Connector, Service Controller
§ N/S - Not Shown
(=)
=
=
m
3
=
S8
2
=
] 216 Fluidra 2022 Product Catalog





